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Time : 3 Hours Maximum Marks : 70

Instruction : Attempt according to internal choice.
SECTION - A/ i — &

Answer any five of the following. 5x2=10

wﬁs@mg Besom aod% QZORD.

1. Define financial services.
DEITOAI A’edwm‘i DPEEANEE

2. What is bills discounting ?
TOB RReReTTD D0TTe 9

3. What is credit rating ?
TSI T IFFORDE 20TJeR 9

4. Expand SEBI.
%2 (SEBI) ORI, DDA,

5. What is factoring ?
FRIFOONT HOTTed 9

6.  What is prospectus ?
TVOWOD BEF 0BT 9

7. Define merger.
DOLRCTTOBI), 2RI

SECTION - B/ Qo - ©

Answer any three of the following. 3x5=15
3INSHYNYY ez SeTE, G03020.

8. Explain briefly features of financial services,
BT FeWInY VBN, BOZTIN DBOLXO.

P.T.O.
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9. Explain the objectives of factoring.
TRBOOMTS SVT3 BN, DWORD.
"o (&)

Briefly explain the content of prospectus.

10.
oD BIFOPY) LIRPOT LOBINTIY Hogaemon LIOADO.

Briefly explain the advantages of mutual fund.

y 2
XTI QPO WTBRVINTI), Rogziemo DWOA.

12. Explain the features of credit rating.
BT JecdesTror OFLRTFI, DBOAD.

SECTION - C/ Qdyent — &
Answer any three of the following,. 3x15=45

FINIINGY Ve a:’u.rad% SZDAD.

13. Explain the types of financial services.

TEOTOAT ACWNY TTONYDY, DWOAD.

14. Define Insurance. Explain the importance of Insurance.

o:)daojomcl méméé’oz). FATR VO WY) a‘b&%ﬁ&d QDTORD.

Define Merchant Bank and explain the functions of Merchant Bank.

15.
D3ET 233505653& ma,,éb?éé’bﬁu G R3ET waéo&s FOO:’DFNJR’D& QWORD.

'16. What is venture capital ? Explain the importance of venture capital.

B WOBTY 0T 7 MBR WOBHYT TOIRLRINTTY, DWORD.

17. Explain the types lease in detail.
Reedod BFTNTR), AT QDWORD.

-00o0-
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VI Semester B.Com. Degree Examination, Sept./Oct. - 2021
COMMERCE .

(All CBCS)
Human Resource Management (S38% SOIRAL AT HH)

3795

G

Time : 3 Hours Maximum Marks : 70

Instruction :  Answer all the questions according to the given choice.
SECTION - A/ i — &

Answer any five of the following. 5x2=10

FINIYNIY Bewd 2TF, YOZORD.

1.  Mention any four limitations of Human Resource Planning.

BPRIT FOTISRL 03ReB[OH 0IWFTOWIR T DWFOTNYTY, SPAD0.

2. What is Human Resource Accounting ?

VOIS xowmew eiﬁﬁzsad 0TI ?

3. What is Transfer ?
DOFRTB 0TTER 2

4.  What is Human Resource Management ?

FASDIMN xowme@w ATFDTB 0T 9

5. What is Promotion ?
wdfaeaﬁaé QOTW3eR ?

6.  Mention any four causes for Labour Turn-over.

JPFOD wT-BAT BRETHFOH 03IT)TOTIR DL, TOTLNTR), E9A0.

7. What is Human Resource Planning ?
AN xoa'dai:aéow 03Rexd 20TTeD 9

P.T.O.
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SECTION - B/ Qyont —

Answer any three of the following. 3x5=15 -

FINIDNGD BeTT ::md% VZOAD.

8.  Distinguish between H.R.M. and H.R.D.
SRTB ROTIRY ATEBE W) WIS XOTIRL @2330%033 IBIT BIVANTIY,

2)30N00.

9.  Explain the needs of H.R.M.
BPIB ROTIRY DTFBEBOD @d%ﬁ@ﬁ‘#&b‘,\ QA

10. What are the objectives of promotion ?
BTReS 30 wcgezﬁﬁe;o oSRR)w) ?

11. Explain the principles of Job Evaluation.
UBRLN SROLITT IIRY wif FATTE Qe@O.

12. Distinguish between Training and Development.
30e3ed TR wzpsse@pod) ST BIVANTIY 208000.
SECTION - C/ Qi — &
Answer any three of the following.
FPNSYYNTY Wewnd a’.;mdé* SVZDAD.

3x15=45

13. Explain the components of H.R.M.
BRTH BOTBRY ATF BEOD FRNYDY, DWOAD.

14. What are the advantages and disadvantages of promotion ?
B3ees,BoD oz WY RRTRCTNTDY, WWOAD.

15. Explain the steps in selection.
B0, DFIIT TOBNTR, WWOAD.

16. Explain the techniques of H.R.P.
BRTH FoTJRY JoIReEID oA, OB TOAD.

17. Explain the methods of Job Evaluation.
emd.raém dﬁ’aééesdead ATAI mc;pém a)r;\ NWT AeRO.

-00o0-
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VI Semester B.Com. Degree Examination, Sept./Oct. - 2021
HUMAN RESOURCE MANAGEMENT (ALL) (3383 Z0m8R0 ATFZ)
(CBCS)

Time : 3 Hours Maximum Marks : 70

SECTION - A/ Q%R — &

Answer any five of the following. 5x2=10
FINIPYNYY 3eTT md% eZDAD.

1.  Name any two objectives of Human Resource Management.

BRTH FOTIRY NREBRHBOD CIPRTRTR T YOG EBNTTY, 89A.

2.  What is Job Analysis ?
SVTIRLN DFeRB H0TTED ?

3. What is Job Evaluation ?
emciraém aﬁ@@éesdsa Q0TBED ?

4. What is Training ?
302308 0BTE ?

5. What is Informal Interview ?

9 RT2F0T FOTIFI Q0TI ?

6. What do you mean by Performance Appraisal ?

FODEARETBEFO NOTFORTED a@aﬁ:- Q0TTE ?

7. What do you mean by Demotion ?
BO0WBE DOTTER ?

P.T.0
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SECTION - B/ &R — ©

Answer any three of the following, 3x5=15

INTYYY e3e503 oDE, GuDRO.

8.  Explain the Managerial functions of HRM.
BRTS FOBIRY JTFBBOD F0ODFATOETT TOODFNFTY, DWORD.

9. Explain the Human Resource planning process.

BRTT FoTJRL 0dees TFoHow, DFOA.

10. What are the Advantages of Job Evaluation ?
emcirasm wfae%eb’dmd LVBRON o3P ?

11.  Explain the Importance of Training.

30edes0d TRWDZoD), VFOR.

12. What do you mean by Transfer ? Explain the types of Transfer.
DMOF DB NOTTED ?  IMOFTHBOD @%@dﬁ@&& QWORO.

SECTION - C/ Qi — 2
3x15=45

Answer any three of the following.
FONTINSQ 236500 S0RTE YDZORD.

Discuss the Role and Responsibilities of H.R. Manager.

13.
DIOI :Joas’me@ 555:@@&“56 Geplc) 5:03_30 umw%@ﬁeémcl O W80,

14. Explain various sources of Recruitment.

SeHTE0DH DT FPOTIR, IFOKO.

What is Training ? Explain the methods of Training.

15.
30eded womTed 7 FTeIeS0D THENTRY TOAD.
16. Explain the techniques of Performance Appraisal.
TOODFRTE BETD THFFIRMVED AFTF 0D JOFNTRY, TORD.
17. What do you mean by an Interview ? Explain the different methods of interview

RNOTIFS H0TTeSD 9 ROTIFIT ANF DTNEI, A e)te)

-00o0-
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VI Semester B.Com. Degree Examination, Sept./Oct. - 2021

COMMERCE
S
6.3 Management Accounting 33839
(CBCS New)
RS S ous Maximum Marks : 70

Instruction : Attempt all the questions to internal choice.

SECTION - A
L. Answer any five of the following questions. 5x2=10
1. Give the meaning of Management Accounting.
2.  What is Financial Interpretation ?

3.  Write the formula to calculate Liquid Ratio.

4. If a company has earn Net profit of Z1,00,000 and its Net sales amounts to
Z 4,00,000 what is Net Profit Ratio ?

5. What are Non-operating Incomes ?

6. What is funds from operation ?

7.  Give any four examples of Financing Activities in Cash Flow Statement.

SECTION - B

IL. Answer any three of the following questions. 3x5=15

8.  Give briefly the functions of Management Accounting.

9. State the reasons whether the following transactions result in In-flow or

Out-flow or No-flow of cash.

(a) Sale of Investment for cash.

(b) Purchase of Fixed Assets for cash.
(c) Cash collected from Debtors.

(d) Payment of supplies of goods.

(e) Issue of shares for cash.

P.T.O.
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10. From the following information rearrang

2

re the figures in a compar

ative form.

Particulars 31.12.2018 31.12.2019
Net Sales 15,00,000 18,00,000
Cost of Sales 8,00,000 9,00,000
Other expenses 2,70,000 3,00,000
Interest paid 40,000 60,000
Income tax 1,20,000 1,40,000

11. From the following information calculate creditors turnover ratio and payment

period.

Bills payable opening

Bills payable closing
Creditors at opening
Creditors at closing

Total purchases for the year

Cash purchases for the year

- 62,500
- 78,000
- 57,500

82,000

5,85,000
- 25,000

12. Calculate Funds from operations from the summarised statement of Assets and

Liabilities.

Particulars

General Reserve

Goodwill

Preliminary expenses
Provision for Depreciation
Provision for Doughtful debts
Long-term loans

Statement of profit and loss

AT

31.12.2018

1,58,000
69,120
24,690
66,660

4,680
90,000
2,50,000

31.12.2019
1,78,000
46,900
6,900
88,880
7,380
80,000
2,80,000
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1. Answer any three of the following questions. I 543

3. Explain the importance of Management Accounting.

anv Lid: as on

and Liability of Bidar comp
atements of

14. From the given statement of Assets
to prepare comparative st

31.12.2018 and 31.12.2019 you are require
Assets and Liabilities and also comment.

Statement of Assets and Liabilities

Particulars Note 2018 2019
I. Equity and Liabilities
(1) Shareholders Funds
Share Capital 1 {4,00,000 4,00,000
Reserves and Surplus 2 |1,00,000|5,00,000 1,25,000 5,25,000
(2) Non-current Liabilities
Long-term Loan 3 50,000 50,000
(3) Current Liability
Tr. Payable 2 1,50000 1,90,000
Total 7,00,000 7,65,000
II. Assets
(1) Non-current Assets
(a) Fixed Assets
Tangible Assets 5 5,25,000 5,35,000
(2) Current Assets
Current Investments 6 40,000 50,000
Inventories 7 50,000 60,000
Trade Receivable 8 75,000 1,00,000
Cash 9 10,000 20,000
Total 7,00,000 7,65,000

o =
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Notes to Accounts

Note 1

Note 2

Note 3

Note 4

Note 5

Note 6

Note 7

Note 8

Note 9

2018 2019
Share Capital
Equity Share Capital 3,00,000| 3,00,000
Preference Share Capital 1,00,000{ 1,00,000
Total |4,00,000| 4,00,000
Reserves and Surplus
Reserves 1,00,000{ 1,25,000
Total |1,00,000{ 1,25,000
Long-term borrowings
12% Debentures 50,000{ 50,000
Total 50,000| 50,000
Trade payable
B/P 60,000, 90,000
Creditors 90,000| 1,00,000
1,50,000{ 1,90,000
Tangible Assets
Furniture 25,000 20,000
Plant and Machinery 2,50,000( 2,00,000
Land and Buildings 2,50,000| 3,15,000
Total |5,25,000| 5,35,000
Current Investments
Investments (Temporary) 40,000{ 50,000
40,000{ 50,000
Inventories
Stock 50,000{ 60,000
50,000 60,000
Trade Receivable
Debtors 75,000| 1,00,000
75,000{ 1,00,000
Cash and Cash equivalents
Cash 10,000{ 20,000
10,000{ 20,000

SR
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From the following information calculate given Ratio.

(a) Current Ratio

(b) Liquid Ratio

(c) Gross profit Ratio

(d) Net profit Ratio

(e) Stock turn-over Ratio
(f)  Debtors turn-over Ratio

(g) Working capital turn-over Ratio

(h) Creditors turn-over Ratio

Sales all credit

24,00,000
Gross profit 4,00,000
Rate of Tax 50%
Short-term borrowings (B.O.D.) 1,00,000
Trade payable (creditors) 2,40,000
Short-term provisions 1,20,000
Current Investments 80,000
Inventories (Stock) 3,00,000
Trade Receivables (Debtors) 1,60,000
Cash 40,000
Short-term Loans and Advances 40,000
Other Current Assets 20,000
Net profit before tax 2,00,000
Credit purchases 20,00,000

G TR

37621

P.T.Ox
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16.

6

From the following particulars prepare Fund Flow Statement for the year ended

31.12.2019.

Net profit 68,000
Purchase of Land 80,000
Purchase of Investment 1,60,000
Issue of shares 2,00,000
Sale of Plant 40,000
Depreciation charged 12,000
Dividend Receivable 4,000
Decrease in working Capital 36,000
Redemption of debentures 40,000
Redemption of preference shares 80,000
Dividend paid 20,000
Payment of tax 20,000
Sale of Investment 28,000
Transfer to Reserve 20,000

Scanned by CamScanner
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17. Comparative and summarised statement of Assets and Liabilities of Amar

company Ltd. are as under.

Particulars Note 2018 2019
Amount| Total | Amount | Total
I. Equity and Liability
(1) Shareholders Funds
(a) Share Capital 1 [1,90,000 1,80,000
(b) Reserves and Surplus o | 35000 2,225,000 29,000 2,09,000
(2) Current Liability
Trade Payable 3 76,000 64,000
Total 3,01,000 2,73,000
II. Assets
(1) Non-current Assets
(a) Fixed Assets
(i) Tangible 4 | 62,000 50,000
(i) Intangible 5 9,000, 71,000 8,000 58,000
(2) Current Assets
(a) Trade Receivable 6 [1,90,000 1,55,000
(b) Cash and Cash equivalent 7 40,000( 2,30,000 60,000/ 2,15,000
3,01,000 2,73,000

Scanned by CamScanner



Notes to Accounts

2018 2019
Note 1| Share Capital 1,90,000| 1,80,000
1,90,000| 1,80,000
Note 2| Reserves and Surplus
Profit and Loss A/c 35,000 29,000
35,000{ 29,000
Note 3| Trade payable
Bills payable 76,000 64,000
76,000 64,000
Note 4 | Tangible Assets
Land and Buildings 62,000 50,000
62,000 50,000
Note 5| Intangible Assets
Patents 9,000 8,000
9,000 8,000
Note 6| Trade Receivables
Debtors 1,90,000) 1,55,000
1,90,000{ 1,55,000
Note 7| Cash and Cash equivalents
Cash 40,000 60,000
40,000 60,000

Prepare Cash Flow Statement as per Accounting Standard - 3 Revised.

-00o0-
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VI Semester B.Com. Degree Examination, Sept./Oct. - 2021

COMMERCE 20053
Management Accounting (All)
(NEW)
Time : 3 Hours Maximum Marks : 80

Instruction : Attempt all Sections according to internal choice.

SECTION - A
I. Answer any ten of the following questions. 10x2=20
1. What is Management Accounting ?
2.  State two objectives of Management Accounting.
3.  What is Financial Statement ?
4.  What is Financial Analysis ?
5.  What is Ratio Analysis ?
6. State two types of Ratio.
7.  What is Fund Flow Statement ?
8.  State two uses of Fund Flow Statement.
9.  Give the meaning of Cash Flow.
10. State two objectives of Cash Flow Statement.
11. State two differences between Fund Flow and Cash Flow Statement.
12. Whatis EPS?
SECTION - B
II. Answer any three of the following questions. 3x5=15
13. What are the features of Management Accounting ?
14. Explain the importance of Ratio’s.
P.T.O.
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15. From the following given information calculate the Debtors Turnover Ratio (DTR)
and Average Collection Period (ACP).

Total sales - T 6,40,000

Cash sales - ¥ 4,00,000

Debtors at the beginning ¥ 20,000 at the end ¥ 28,000

Bills Receivable at beginning < 16,000 and Bills Receivable at the end ¥ 24,000

16. From the following information calculate funds from operations.

Particulars 31-03-2016 31-03-2017
Profit and Loss 45,000 75,000
General Reserve 20,000 25,000
Good will 15,000 10,000
Preliminary expenses 10,000 4,500
Proposed Dividend 10,000 15,000
Loss on sale of investments < 2,000

17. From the following information calculate cash from operations.

Particulars 2016 2017

Profit and Loss 80,000 1,00,000
Debtors 40,000 52,000
Bills Receivable 40,000 24,000
Prepaid Expenses 6,000 7,600
Good will 40,000 28,000
Depreciation 64,000 80,000
Creditors 40,000 60,000

SECTION - C
III. Answer any three of the following questions. 3x15=45

18. From the following data prepare common size income statement.

Particulars 31-03-2016 31-03-2017
Sales 2,80,000 3,30,000
Cost of sales 1,70,000 2,10,000
Other expenses 44,000 54,000
Income-Tax 30% 30%

[ANTAMER Ay
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From the following information calculate.

Gross Profit Ratio
Earning Per Ratio
Capital Gearing Ratio

(@)
(©)
(e)

(b)
(d)

Cash Sales - < 3,00,000, Credit sales - ¥ 3,25,000

Sales Returns - ¥ 25,000
Cost of Goods Sold - < 4,00,000

Operating cost - ¥ 75,000, Net Profit - ¥ 75,000
Preference share dividend - % 2,000

Long-term loan - < 2,00,000
Debentures - ¥ 1,00,000,

Preference share capital - 3 20,000
Equity share capital - 10,000 shares of X 10 each, ¥ 1,00,000

Operating Ratio
Debt Equity Ratio

23602

From the following statement of Assets and Liabilities. Prepare Funds Flow

Statement.
Particulars Note 01-01-2017 31-12-2017
Amount| Total |Amount| Total
I. Equity and Liabilities
1. Shareholders Funds
(a) Share Capital 1 [1,00,000 1,20,000
(b) Reserve and Surplus [ 2 13,500( 1,13,500( 41,700(1,61,700
2. Non-current Liabilities
Long-term borrowings 3 26,000
3. Current Liabilities
Trade Payables 4 33,500 36,400
Short-term Provisions 5 19,800 53,300{ 22,900 59,300
Total 1,66,800 2,47,000
II. Assets
1. Non-current Assets
(a) Fixed assets
(b) Tangible assets | 6 93,400 1,67,000
2. Current assets
(@) Inventories 7 36,500 38,000
(b) Trade receivables 8 32,100 38,000
Cash and cash equivalents| 9 4,800 73,400( 4,000{ 80,000
' 1,66,800 2,47,000
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Depreciation written off during the year on Machinery 12,000 and on Furniture
T 400.

Notes to Accounts

Particulars 01-01-2017 31-12-2017
Note 1 |Share Capital
Equity shares of ¥ 10 each 1,00,000 1,20,000
2 |Reserves and Surplus
Share premium ' - 10,000
General Reserve 6,000 11,000
Profit and Loss 7,500 20,700
Res. and Surplus 13,500 41,700
3 |Long-term borrowings
8% Debentures - 26,000
4 |Trade payables
S. Creditors 33,500 36,400
5 (Short-term Provisions
Provision for taxation 9,800 10,900
Proposed dividend 10,000 12,000
19,800 22,900
6 |Tangible Assets
Land and Building 55,400 1,13,200
Machinery ‘ 35,600 51,300
Furniture 2,400 2,500
93,400 1,67,000
7 |Inventories
Stock 36,500 38,000
8 |Trade Receivables
Debtors 32,100 38,000
9 |Cash and Cash equivalents
Cash at Bank 4,800 4,000

LLRUNL Y TN L O R TR
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From the following statement of assets and liabilities of N. Ltd. Prepare Cash

Flow Statement.

2014 2015
Particulars Note
Amount| Total |Amount| Total
I Equity and Liabilities
1. Shareholders Funds
(a) Share Capital 1 14,00,000 16,00,000
2. Current Liabilities
Trade Payable 2 3,00,000 2,00,000
Total 17,00,000 18,00,000
II. Assets
1. Non-current Assets
(a) Fixed assets
(b) Tangible assets 3 16,00,000 14,40,000
2. Current Assets
(1) Inventories 4 20,000 30,000
(2) Trade receivable 5 60,000 46,000
(3) Cashand Cash 6 | 20000 1,00,000]2,84,000| 3,60,000
equivalent
Total 17,00,000 18,00,000
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Notes to Accounts

2014 2015
Note 1 |Share Capital 14,00,000 16,00,000
2 |Trade Payable
Creditors 2,00,000 1,60,000
Bills Payable 1,00,000 40,000
Trade Payable 3,00,000 2,00,000
3 |Tangible Assets
Machinery 4,00,000 3,60,000
Buildings 12,00,000 10,80,000
Tangible Assets 16,00,000 14,40,000
4 |(Inventories
Stock 20,000 30,000
5 |Trade Receivables
Debtors 40,000 30,000
Bills Receivable 20,000 16,000
Trade Receivable 60,000 46,000
6 |Cash and Cash equivalents
Cash 20,000 2,84,000

Other information :
There was neither drawings not any additional capital. But increase in capital is

net profit.
22. Explain the advantages and disadvantages of Cash Flow Statement.

-00o0-
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VI Semester B.Com. Degree Examination, Sept./Oct. - 2021

COMMERCE

Contemporary Auditing

(CBCS)
Maximum Marks : 70

Time : 3 Hours

SECTION - A/ Qi — ©
Answer any five of the following. 5x2=10

39N TFROR Bezon 0T, YOIOD.

1.  Who can be a Company Auditor ?
03503 FOTR S, BOBRETFTIONTIT ?

2. What is audit report ?
&g, TOZRePTD [T Q0TTE ?

3.  What is Divisible Profits ?
BOBWIITOE ©g Q0TI ?
Give two merits of Audit for Partnership Firm.

&g, BOZReFH0OT TR0 BOZNTHT ATR FOIReRINTT, 39A0.

5. What is Social Audit ?
T03T0L3T c3§ TOBRCFS 0T3S ?

6. Define Business Ethics.

udgwd Qe BTFE DWORD.
7.  Define Professional Negligence.

“ase)g aorg 533” méamém.
P.T.O.
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10.

11.

12.

13.

14.

15.

16.

17.

SECTION - B/ Q0mnt — 2

Answer any three of the following questions. 3x5=15

$9ns IR esss Fhevy IORO

Explain Qualifications of Company Auditor.

BOTD SZTWOZRFTT BEINTDY, DIOA.

Explain the various kinds of audit report.
S Bodwermo BTOOD DOG TFOTNTIY, DTJOA.

Explain the different types of dividend.
CPZIROTT BFOTNT DTOAD.
Define Cost Audit and state its objectives.

Sy, I, ToBReFHODT:, TIVPA0. OTT UTESRID, 92,

Explain Professional misconduct with examples.

FB0DY HIFFS QEBTBAROOR HTORD.

SECTION - C/ Qyont — 3
Answer any three of the following questions.
3INT JJon B3ewT ST, YDZDA0.

3x15=45

Explain the Rights and Duties of company auditor.
30T I VO3REGTT TN TS BBFINTRY, DTOAO.

What are the contents of Audit Reports ?
c3§ TO3ReTT0 BTOD mméosmmd D=DRO.

Explain the duties of an auditor towards declaration and payment of final dividend.

PE008 TRRCTE Tone RTTHN BOWORITOS I, TOBRTIS FBF RN, DBJORD.

Give detailed audit programme for partnership firm.
ToeTR030D B8 HOBREGTD FOOFTRTIY DWTTON 20TOWD.

Write audit programme for Bank Audit.
239,081Y S8, TOBReGT FodTodReESODT, 203C00.

-00o0-
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VI Semester B.Com. Degree Examination, Sept./ Oct-~ 202;0051
COMMERCE ‘
Income Tax - II (General & Computers)
(NEW)

Time : 3 Hours Maximum Marks : 80

Instruction : Attempt all sections according to internal choice.

SECTION - A
Answer any ten of the following questions. 10x2=20
1. What is capital gain ?
2.  State the types of capital asset.
3.  State the types of securities.
4. What is Grossing up ?
5. Who is called as an individual ?
6. What is Hindu Undivided Family ?
7. State any two incomes which are not treated as HUF incomes.
8. Who is working partner ?
9. Define partnership.
10. What is carry forward of losses ?
11. What is total income ?
12. What is steP system of taxation ?
P.T.O\

Scanned by CamScanner



LOUUD 2

SECTION - B

Answer any three of the fOllowing. 3x5=15

13.  What are provisions for set off anq carry forward of 1055€3 ?

14. What are the conditions for assessing the firm separately ?

15. From the following details of Mr. Arjun compute his income from other sources,
(a) Family pension X 72,000,
(b) Winnings from lotteries (net) T 1,68,000.
(c) Royalty income (mﬂnuscript expenses T 4,000) T 50,000.
(d) Income from agriculture in England ¥ 80,000.
(e) Interest on bank deposit ¥ 40,000.
(f)  Dividend from co-operative society ¥ 60,000.

16. Mr. Abhishek purchased a house in April 2006 for ¥ 2,44,000 and had spent  3,50,880
in May 2007 on additions to the house. He sold the same on 3-10-2019 for ¥ 20,00,000.
The cost inflation index for the financial year 2006-2007 was 122 for 2007-2008=129

and 2019-20=289.

Compute his capital gain for the A.Y. 2020-21.

17. From the following information compute the tax liability of Smt. Kavitha for the
Assessment year 2020-21.

(a) Income from salary = Z 50,000.

(b) Income from House property = < 4,00,000.
(c) Income from business = < 200,000.

(d) Income from other sources = X 1,00,000.

During the year he paid life insurance premium on his own life < 10,000.

Compute his tax liability for the A-Y- 2020-21.

(AR
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SECTION - C

3x15=45

Answer any three of the following:

ticulars of income of Shri Avinagh ompute the taxable capital

From the following par
gain for the A.Y. 2020-2021.

House I Hm]

May 1997 | Dec. 2000
1,90,000f  2,50,000
10,000 25,000

Particulars

Date of purchase

Date of acquisition

Cost of improvement

in the year 2000

1,75,000 3,50,000

Fair market value
on 1-4-2001

Cost of improvement

48,000 72,000
6,53,000{ 10,883,800

Sales proceeds of properly

Cost inflation index for the financial year 2001-2002, 2014-2015 and 2019-20 were

100, 240 and 289 respectively.

Mrs. Rekha submits the following particulars of her income for the year ended 31 March

2020 :

(a) Family pension received from the government of Karnataka < 30,000.

(b) Royalty received from the publisher 50,000. Allowable expenses in this respect

T 5,000.
(c) Winnings from lottery (Net) < 56,000.

(d) Winnings from horse race (Net) I 28,000.
(e) Interest on tax-free debentures of Mysore Electric Company < 7,200.
(f) Interest on 10% tax-free bonds of the Govt. of India % 10,000.

(g) Dividend received from a foreign compary Z 8,000-

: -21.
Compute her income from other sources for the AY. 2020
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20.

21.

From the following particulars of income of Mr. Suresh compute his total income for
the A.Y. 2020-21.
(a) Salary at T 9600 P-M.

(b) Rent from house Property 300 p /.

(c) Intereston fixed deposit with bank 2,400.

(d) Interest on depOsits with X Co, Ltg, 2;700 (Net)

(e) Interest on GOVt securities 15,00,

(f) Dividend received from Co-operative society < 10,000.

(g) Dividend from Indian company 2,000.

(h) Heownsa poultry farm from which his profit are % 50,000

(i) He sold his residential-house ¥ 15,00,000 which he had purchased for ¥ 3,20,000
in May 1999 and its fair market value on 1-4-2001 was % 4,00,000.

Cost inflation index in 2001-2002 was 100 and 2019-20 was 289.

From the following particulars furnished by Mr. Anand, who is the Karta of a Hindu
undivided family for the previous year ending 31-3-2019. Compute his total income

for the assessment year 2020-21.

(a) Profit from business < 1,00,000.

(b) Salary received by Mr. Nagesh from a Co. X 80,000.

(c) Directors fees received by Karta who became by his personal capacity < 10,000.

(d) Rental value of the property letout < 50,000.
(e) Municipal taxes paid ¥ 5,000.

(f)  Agriculture income of the family ¥ 10,000.
(8) Interest on bank deposit ¥ 15,250.
(h) Lottery income of the family (Net)

()  Mr. Nagesh lost ¥ 20,000 on horse race.

() On1-12:2019 the family sold the shares for X 79,350 which were purchased by it
on 1-10-2013 for T 33,000-
The cost inflation index for the financial years 2013-14 ang 2019.20 were 220

T 35,000.

and 289 Tespectively.

LT
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/\, B and C . fi ith .
are partners in a firm with sharing ratio 5, 5, fit and L
Account for the year ending 31-3-2020 are as followsg - sRg 1. This WrONSEAS SC

®
To Sundry expenses 2,00,000
To interest on capital
@ 20%
A T 32,000
B T 28,000
C T 24,000 84,000
To Rent to B 60,000
To Salary to B 1,44,000
To Commission to C 72,000
To Net profit 40,000

6,00,000

Compute the total income of the firm.

®
By Gross profit 5,80,000

By Interest on

securities 20,000
-
6,00,000

-00o0-
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COMMERCE

Income Tax - II (General & Computers)
(CBCS)

Maximum Marks : 70

Instruction : Answer all Sections according to internal choice.

N & U ohm W N

10.

SECTION - A
Answer any five of the following : 5x2=10

State the types of capital asset.
What is cost of acquisition ?
State the types of securities.
What is grossing up ?

Who is Karta ?

State any two incomes which are not treated as H.U.F. Incomes.

Who is a working partner ?

SECTION - B
3x5=15

Answer any three of the following :
State the provisions for set off and carry forward of losses.

Mr. Karthik purchased a residential house in April 2006 for X 2,44,000 and had spent
Z 3,50,880 in May 2007 on additions to the house. He sold the same on 3-10-2019 for
Z 15,83,280. The cost inflation index for the financial year 2006-2007 =112,

2007-2008 =129 and 2019-2020 = 289.
Compute his capital gain for the A.Y. 2020-21.

From the following details of Guru, compute his income from other sources for the

assessment year 2020-21.

(a) Family pension ¥ 24,000

(b) Winnings from lottery (net) ¥ 56,000

(c) Royalty income (manuscript expenses I 4,000) Z 20,000.

(d) Income from agriculture in Pakistan ¥ 20,000
(e) Directors fees T 6,000

P.T.Q.
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1. Compute the deduction U/s 80C from the following particulars.

a) Life insurance premium paid on own life Z 80,000

(a)
(b) Life insurance premium on daughters life T 15,000
() Contribution to PPF ¥ 50,000

(d) Interest on housing loan ¥ 8,000
(e) Subscriptions to unit linked insurance plan Z 12,000

(f) LIP paid on mother’s life ¥ 10,000

12. From the following information compute the tax liability of Smt. Rohini for the

Assessment year 2020-21.
(a) Income from house property Z 4,50,000
(b) Income from business Z 1,50,000

(c) Income from other sources Z 2,00,000

During the year he paid own health insurance premium by cheque  20,000.

Compute his tax liability for A.Y. 2020-21.

SECTION - C

Answer any three of the following : 3x15=45

13. From the following information compute the taxable capital gains for the assessment

year 2020-21.

Particulars House A House B
Data of purchase 01-06-1997 31-3-1998
Cost of acquisition 5,70,000 3,75,000
Cost of improvement in 2000 25,000 25,000
Fair market value as on 1-4-2001 5,25,000 5,25,000
Cost of improvement in 2004-05 1,55,940 2,33,345
Sales proceed of property

21,78,120 23,42,035

in 2019-20
Cost inflation index :
For 2001-02 : 100 for 2004-

AEHERm

05 : 113 for 2019-20 : 289.
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14. An individual has the foll owing investments during the Previous year 2019-20
(@) % 60,000 9% Government paper
(b) ¥ 46,000 89 Municipal debentures
(©) 40,000 7,59 pogt trust bonds
(d) % 32,000 11% Bangalore development loan

() X 80,000 7% State Government securities

f

(f) 40,000 18% Tax-free debentures of X Co.Ltd. (Listed in recognised stock
exchange) '

(8) < 20,000 13% debentures of cotton Co. Ltd.

On 1-12-2019 he bought 40,000 10% Karnataka Government Loan for Z 50,000.
For this purpose he took a loan of ¥ 40,000 from his bankers at 15% p-a. and the
balance of ¥ 10,000 were financed out of a previous loan taken some other purpose
at 14% p.a. The bank also charged < 400 commission on realisation of Interest

0 . . oge
and 1% commission on purchase of securities.

Compute the income from other sources for A.Y. 2020-21 assuming that interest is
payable on the securities on 30t June and 315t December every year.

From the following particulars of income of Mr. Sunil, compute his total income for the

AlY. 2020-21.

15.

(a) Salary at < 4,800 p.m.
(b) Rent from house property X 3,000 p.m.
Interest on fixed deposit with bank ¥ 2,400

(©
(d) Intereston deposit with X Co. Ltd. ¥ 2,700

(e) Interest on Government securities I 15,000

(f) Dividend received from co-operative society ¥ 10,000

(g) Dividend from Indian company ¥ 2,000

(h) Heownsa poultry farm from which his profit are ¥ 50,000

(i) He sold his residential house for ¥ 13,94,000 which he had purchased for ¥ 3,20,00
in May 1999 and its fair market value on 1-4-2001 was < 4,00,000 cost inflatiop,

index in 2001-2002 was 100 and 2019-20 was 289.

TR

’T.O
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Abdul, Narayan and Fernandes are equal partners in a firm. Abdul is a nonworking
partner. Their profit ang loss account for the year ending 31-3-2020 is as follows.
Salaries 1,27,600 Grass profit ~ 5,30,000

Office expenses 25,000

Interest on Capita] .

10.

Abdul 45,600
Narayan 22,800
Fernandes 19,000
Commission :
Abdul 15,000
Narayan 10,000
Fernandes 5,000
Net profit 2,60,000
" -
5,30,000 5,30,000

Additional information :
(a) Salaries include salary to Narayan ¥ 10,000 and to Fernandes ¥ 15,000.
(b)  Capital of partners on 1-4-2019 were Abdul  2,40,000, Narayan ¥ 1,20,000 and

Fernandes ¥ 1,00,000.
(c) Office expenses include bonus to Abdul ¥ 1,
< 2,500.
Compute the book profit and the total income of the fir
2020-21.
From the following details furnished by Mr. Mahesh, Karta of a Hindu undivided family
compute total income for the assessment year 2020-2021.

(a) Profit from business T 60,000
(b) Salary received by a member of the family for his service in a college X 10,000

(c)  Directors fees received by the Karta T 7,140

(d) Annual rental value of the property let out ¥ 12,000
(¢) Municipal taxes paid ¥ 600

(f) Interest on bank term deposit ¥ 450

(§) Donation to college (approved) ¥ 8,000
(h) Life insurance premium on Karta’s policy T 450
()  The family has sold on 1-12-2019 its open site for ¥ 1,15,980 which was purchased

by it on 1-6-2009 for ¥ 51,800. The cost inflation index for the financial years
2007-08 and 2019-2020 were 129 and 289 respectively.

000 Narayan ¥ 1,500 and Fernandes

m for the assessment year

17.

-00o0-

LT
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SECTION - A

Answer any five of the following questions. 5x2=10
1.  Mention 2 objectives of Cost Sheet.
2. What is Operating Costing ?
3. Name the parties to the contract.
4. State any two characteristics of process costing.
5. What is Contribution ?
6. Give four examples of incomes which are excluded from cost sheet.
7.  What is retention money ?

SECTION - B

Answer any three of the following questions. 3x5=15
8.  Define cost sheet and describe the objectives of cost sheet.
9. From the following particulars prepare cost sheet.

4

Opening stock of materials 1,00,000

Closing stock of materials 75,000

Materials issued from stores 20,000

Materials purchased 2,55,000

Direct wages 2,00,000

Sales 8,00,000

Factory overhead 50% of Direct Wages Administrative overhead 25% of factory cost.

P.T.O.
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Following is the information relating to Contract No. 111.
Plant on 01.01.2007 < 1,00,000

Plant purchased % 7,00,000

Plant issued from stores < 2,00,000

Plant costing ¥ 1,20,000 sold for ¥ 1,40,000

Plant costing X 80,000 returned to stores.

Plant costing ¥ 40,000 lost by accident.

10.

Charge depreciation on plant at 10% p.a.

Calculate plant at site on 31.12.2007.
11. Kiran Transport Company runs the following buses in the Gulbarga city limits for

30 days in the month.
10 Buses of 40 passenger capacity.

10 Buses of 45 passenger capacity.
On an average each bus makes 10 trips per day covering a d
trip with 80% of seats occupied. Generally 5 buses are kept away

repairs. Calculate total passenger kilometers.

istance of 8 kms. In each
from the roads for

A 1td has total turnover of T 10 lakhs. It is enjoying 30% margin of safety. Its total

12.
variable cost is 60% of sales.
Determine : 1. Fixed cost
2. BEP Sales

SECTION - C
Answer any three of the following questions. 3x15=45
13. The following are the expenses of a company for manufacturing 1000 units for the

year ending 2008.
Direct Materials

Stock on 01.01.2008 ¥ 60,000
Stock on 31.12.2008 3 1,20,000
Purchase ¥ 5,80,000
Direct wages < 3,00,000
Direct expenses 3 20,000
Factory overheads (60% variable) ¥ 1,40,000
Administrative overheads (fixed) ¥ 60,000
T 96,000

Selling overheads (70% fixed)

JEER
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Prepare a
aIe a statement of egi
estimated cost for 2009 and find cost per unit using the following

information_

(a)  The output expected to be 3000 units.

(b) D‘II‘ECt Wwages are expected to decline by 10%.

(€)  Fixed factory overheads would go up by T 19,000.
(d) Administrative overheads will rise by 20%.

(e)  Fixed selling overheads will rise by 25%.

14. The follow;j )
compan mg is the summary of entries in a contract ledger of ABC construction
pany as on 31.12.2002 in respect of contract No. 2 :

3
Materials purchased 30,000
Materials from stores 6,500
Wages 17,210
Direct expenses 6,710
Establishment charges 8,000
Plant 34,200
Sale of scrap 1,820

7,210

Sub contract cost

Additional information :

(@)
(b)
(©)

(d)
(e)
(H)

Prepare Contract No. 2 Account.

Accruals on 31.12.2002 are wages I 800 and direct expenses < 1,120.

Depreciation on plant T 8,550.

d in the above summary of entries are wages < 1,000 and other expenses

Include
f materials used since certification is

Z 1,500 since certification. The value o

T 2,080. |
Materials at site on 31.12.2020 cost ¥ 10,000.

7 62,500 has been cer
The total contract price was ¥ 1,00,000.

tified upto 31.12.2002.

[T
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From the following information calculate the cost per running a kilometer of a vehicle.

3

Value of vehicle 3,00,000
Garage rent per annum 4,800
Insurance per annum 2,200
Road tax per annum 6,000
Driver’s wages per month 800
Cleaner’s wages per month 200
Cost of petrol per litre 16
Miscellaneous expenses per kilometer

(Including tyre and maintenance) 2

Estimated life 1,50,000 kilometers
Kilometers per litre of petrol - 8 kms.
Estimated annual kilometers run - 10,000 kms.

16. A product passes through three processes A, B and C. The details of each process are

as follows.

Particulars A B C

Input (500 units) ) 4,000 - -

Sundry Materials (]) 5,200 4,000 2,050

Direct Labour () 4,500 7,360 2,800

Production overhead

100% of wages

Actual output (units) 450 340 270

Normal Loss (% on input) 10% 20% 25%
4.00 8.00 10.00

Scrap value per unit (%)
Prepare Process Accounts.

17. From the following information find out :
(a) P/v Ratio

(b) BEP
(c) Sales required to earn a profit of I 90,000

(d) Profit when sales are X 7,50,000

Year Sales (R) Total cost ()
2008 4,50,000 3,90,000
2009 5,10,000 4,35,000
-00o0-

(SRR
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Cost Accounting - II (ALL)
(NEW)

Maximum Marks : 80
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10.

11.

12

Answer any ten of the following questions. 10x2=20

What is Prime Cost ?

Why is Cost sheet prepared ?
Give two examples of office overheads.

What do you mean by contract costing ?

What is retention money ?
State any two objectives of transport costing.

Give any two examples of running charges in case of transport costing.

What is process costing ?

State any two characteristics of process costing.

Define marginal costing.

What do you mean by Break-Even Point ?

What is Contribution ?
P.T.O.
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SECTION - B

Answer any three of the following questions. 3x5=15

13. Define Cost Sheet and describe the objectives of Cost Sheet.

14. A company manufactures a product ‘Q" and furnishes the following information.

Direct Materials < 80,000

Wages % 60,000

Machine hours worked 1000

Machine hour rate 20

Selling expenses 4 P.U.

Office expenses 25% on works cost
Units produced 10,000

Closing stock units 2,000

Prepare a statement of cost.

15. From the following information calculate the amount of profit to be transferred to

profit and loss A/c and reserve for unrealised profit.

Notional profit T 2,60,000
Estimated profit < 3,20,000
Work certified Z 30,00,000
Contract price Z 40,00,000

16. From the information given below, calculate the cost per passenger kilometer.
Total standing charges for the month ¥ 25,000
Total maintenance charges for the month ¥ 15,000

Total running charges for the month ¥ 60,000
The Bus travels a distance of 100 kms each way and completes the trip on same day.
It operates for 30 days in a month with carrying capacity of 50 passengers.

17. The following information relates to Sagar Co. Ltd. Calculate

(i) P/v Ratio

i) MOS

Sales - T 2,50,000
Variable cost - ¥ 1,00,000
Profit - ¥ 75,000

AHETERMER
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SECTION - C
Answer any three of the following questions. B5LS
x15=45

18. From the following particulars, prepare a cost statement showing the component of
total cost and the profit for the year ended 315t Decemper 2009 !

Particulars 01-01-2009 31-12-2009
) ()
Stock of finished goods 6,000 15,000
Stock of raw-materials 40,000 50,000
Work-in-progress 15,000 10,000
Purchase of raw-materials 4,75,000
Carriage inwards 12,500
Wages 1,75,000
Works manager salary 30,000
Factory employees salary 60,000
Factory rent, taxes and insurance 7,250
Power expenses 9,500
Other production expenses 43,000
General expenses 32,000
Sales for the year 8,60,000
Income tax paid in advance 500
Dividend 1,000
Debenture interest 5,000
Transfer to sinking fund for replacement of Machinery 10,000
Goodwill written off 10,000

Payment of sales tax 16,000

19. Anil builders took up a building contract for ¥ 26,50,000 on 15t June 2007. As on
315t March 2008, the company had work-in-progress in the balance sheet as follows :

Work in progress 4
Work certified 16,00,000
Work uncertified 1,00,000
17,00,000
Less : Cash received 12,80,000
4,20,000
Less : Reserve 20,000
4,00,000

(RN O P.T.O.
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Below transactions took for the year 2008-09 :

T
Materials issued from stores 2,10,000
Materials purchased 20,000
Cost of sub-contract 40,000
Wages paid _ 1,60,000
Administrative expenses 20,000
Plant issued 80,000
Materials returned to stores 10,000
Materials returned to supplier 4,000
Work certified for the year 10,50,000
Plant returned to stores at the end of the contract 60,000

Prepare contract account and contractee account.

20. A transport company supplies the following information in respect of a 10 ton lorry.

Cost of lorry < 15,000

Estimated life 10 years

Diesel, oil and gréase X 30 per trip each way
Repairs and maintenance % 1,000 p.m

Driver’s wages ' < 1,000 p.m

Cleaner’s wages I 500 p.m
Insurance of vehicle % 9,600 per year
Vehicle tax < 4,800 per year
General supervision charges % 9,600 per year

The lorry carries goods to and from the city covering a distance of 100 miles each way.

While going to the city freight is available in full capacity and on return journey 20% of
. its capacity.

Assuming that the truck runs on an average of 25 days in a month, calculate the cost

per ton mile.

LTI
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21. A product passes through two processes ‘M’ and ‘N’ and then to finished stock.
Prepare process accounts and calculate abnormal loss or gain from the following
figures :

Particulars Process M Process N

| ® ®
Materials 10,000 units at T 5 P.U 50,000 -
Sundry materials 10,000 8,000
Wages 20,000 42,000
Overheads 8,400 11,180
Normal loss (% of input) 2% 4%
Scrap value per unit Z 1.00 < 2.00
Actual output 9,500 units 9,200 units

There was no opening or closing stock.

22. From the following information find out
(a) P/v Ratio
(b) BEP
(c) Sales required to earn profit of I 30,000
(d) Profit when sales are ¥ 2,50,000

Years Sales (R) Total cost )

2007 1,50,000 1,30,000

2008 1,70,000 1,45,000
-00o0-

[T
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